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Part T (& - &%)

Q. No. 1 (a-f) carries 1 mark each <6 =6

¥ 0 No. 2-7 carries 2 marks each X6 =12
J : Q. No. 8-12 carries 4 marks each 4x5 =20
Q. No. 18 & 14 carries 6 marks each 6x2 =12

Total =50

Part II (¥ -92%)

Q. No. 15 (a-f) carries I mark each 1x6= 6
Q. No. 16-21 carrie&; 2 marks each 2 2x6 =12
Q. No. 22 -26 carries 4 marks each. 4x5 =20
Q. No. 27 & 28 carries 6 marks each 6x2 =12

Total =50

Total (Part I & II): 50+ 50 = 100

Cariial.



(@)

(b)

()

(@)

(e)

PART A — & 9[¢

Define service 1
(A HReEl |
Fill in the blank :

The allocation of _____ resources and distribution of the
final goods and services are the central problems of any
economy. 1
PN SO S PO B S GRS Jesd 25 REE)
SN (FE A

What is a demand funct@on ? 1
Bifevl e & ¢

What happens to total product when marginal product is zero ?
: 1

eNfe T <] 20T 3 TeAeE & =1 2

What does a vertical supply curve imply ? 1

TsTH Al IR 5 i 2

Why is average total cost (ATC) greater than average vagiable

cost (AVC) ? =l

G ST TTO(E T I TR Y IS 9 ;

State the meaning of microcconomics and macroeconomics.

%
TSl Sl S TR weiion el i
Why does a budget line slope downward ? 2

GTIET ACEH (€2 SRR (@ &7 2

If the total utilities of 4 and 5 units of a commodity for a consumer
are 56 and 60 respectively, calculate the marginal utility of 4 units
of it for him. : 2
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CACSIS! GO I A GREE 4 % 5 (olipa W SIS @6 56 W 60
T (96T AN T 4 G954 2N ToAEIBe! Bt <o |

State any two exceptions of the law of demand. 2

vifzwl KRR Riesien 7o afees G

Define the term “long-run” as used In production. Z

TR PRI IRz G sRes frm |

State any two assumptions of the law of variable proportions.

: : 2
RSP Seines RRGR Ry ZACICEISCIRERE
Distinguish between supply and stock. 4
N SR TSy Sl (rgéat |

OR /97941

Explain briefly any four factors affecting suppiy of a commodity.
<Pl AL AT 2Slic® 91 Rein 5155 s B BT =T <4 |

Explain the law of supply with the help of a supply schedule.

91 SFIb IR RS Calsil RETH! < <=l

State the relationship between average cost (AC) and marginal cost
(MC) using diagram. 4
ba T=gs S 91T 97 (ACQ) Wi i (MC) T 57~F Tl |

State the distinction between explicit cost and implicit cost. Give
one example of each of them. 2+2=4

AP SN SRS G {2y BRI | 2ceE @b vz |

Write down three characteristics of monopolistic competition. State
whether the output produced by a firm under such a market is
higher/lower than or cqual to that of a firm under perfect
competition. 3+1=4
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S /B (= A 1|

: OR / &2
“Monopoly firm is a price maker” — Explain.

“Gs Al RPIE AfSON 3 TR e — e B

13. Explain the fwo basic conditions of consumer’s equilibrium assuming
that the consumer consumes only two goods. 6

T (OISR (5= G AN ol S 3 fR{0E (993 S i v 7hf
EORNESSIN

1 OR /G341
Explain the concepts of change in quantity demanded and change
in demand using suitable diagrams:
Torre B gemd <R oinE s sifdady 97 Sl TR qelTD
RIRIESSIN

14. The demand and supply functions of a firm under perfectly
competitive market are given below :

@, = 2008 =0 and
Q. =100 + 3P
Find {i) © The equilibrium price and output.
(ii) If due to increased cost, the supply function becomes
Q,=-200 + 3P, what will be the changes in equilibrium

2

Price and Output ? 3+3=6
o4l 2 feraIPIeRETe <@ T AT QLS iRl i (sl T 9o S

T 4999

Q, = 200 - 2P i<

@8-—100 =82

() S v SR sifase e |

(i) TR 9 A @IS T A Q= —200 + 3P T, CSETREA S
i Slfsio &5 olfsad 29 2
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The total cost (TC) and prices (P) at different -units of output of a
monopolist are given below :

() Find out the total revenue (TR),

marginal cost (MC) schedules.

(W) Find out the equilibrium quantity of output Q).

marginal revenue (MR) and

(1+2+2)+1=6

GoSIRT GBI TN Seelves e iib S 59 A7 (TC) = Wi (P) ©57®

Tl ezl

(i) 9o W (TR), e == (MR) S =% T (MC) weppb! e = |
(@) TR R ARSI (@) Fef A

TC
20
35
245
Sl
o8
66
76
88

—-POJI\D»—-A(O

0 ~ O Ul

15. (a) What is the alternative name of macroeconomics ?

&

P
15
14
1.3
12
5]
10
g
3

PART B — 9 9%

SRR e B a9 & 2

" (b) What is the significance of the 45° line in Keynesian income

determination model ?
(P2 ST el it 45° @RITER Oleoh & ¢
(c) What is the value of MPC when MPS is zero ?

MPS S Wi %j¢j 2Ce1, MPC 9 i f 2

(d) What is foreign exchange rate ?

@i Jir 2w & oo
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22,
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(¢) What is meant by appreciation of the currency of a country ?
1

IR (P Y SRR e 7 gEim

() What is invisible trade ? : 1
Sy ey & ¢
Give any two examples of macroeconomic variable. 2

TN ST Db Ricpizer 75 Trizael i |

State the concept of depreciation in the context of natlonal mcom(,
accounting. 2,

AT S ol 2PRole SR HSeD] %Rn e

If the marginal propensity to save (s) of an economy is 0-3, find out
the value of thé income multiplier. _ 2

401 SEE A 2GR R SRS (5) 03 T, (oD oI SO el Sl |

State any two measures of fiscal policy to correct the problem of
¢xcess demand in an economy. 2

A Sz SIee bifvis T v SRe <lerE Sifes fran y5] R
Gk

Give the concept of full employment equilibrium. 2

7l (Fetiol SR #ieiics! Snaapia |

What is deficit financing ? 2
qifo ez &5 ¢

What are the four factors of production ? Write down the name of
the remuneration to each of them. 2+2=4

AR Tl B 6 2 FEed drere AR e =0

Explain any four causes of disequilibrium in BOP. 4

CTT-ChT TS SRPAIRINSIE Rig<aicall BiSor <8=el =gl <61 |
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25

26.

O

28.

OR /9241
Distinguish between factor income and transfer income. 4

AN S Wi T SR e M & |

It is planned to increase national income by 21,000 crore in an

cconomy. How much increase in investment is required to achieve
this goal if MPC = 0.6 ? 4

9 SR S i 1,000 (ifb 5l g <19 #if<<eamr o1 C2rm) MpC

= 06 T T T ToNle T el S “IS e 3 29 =i o
What is the meaning of government budget ? Distinguish between
Tevenue receipts and capital BECEIDES) 1+3=4

BRI MeEhs Wil 5 2 ez oy s SEAT AT e AR o

Point out two merits and two demerits of indirect tax. A=l
AR S 407 %91 W 757 o el

Explain the income method of calculating GDP. 6
Y5 952 T ook o AmRec) IR 5 |

OR / 12/
Explain the relationship between investment multiplier and MPC.

[ s s eifws o AT Tem F=oE iRl = |

Briefly explain any four functions of a commercial bank. 6
ffEre @ Riepian sifso! DICT AR <1 |

OR / gi2<y
Describe the speculative demand for money.

AT PO blfenis [y e <
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